Unit 3 Linear Equations




Name:  __________________________________  
 
Day 0 Notes 





Date:  ___________________________  Hour:  _____
PH 6-5: Parallel and Perpendicular Lines




[image: image11.emf]Parallel lines are lines that never intersect.
The equation for the top line is y = 1/2 x + 3/2
What is the slope?             y-intercept?


            The equation for the bottom line is y = 1/2 x – 1   
            What is the slope?             y-intercept?


 


Parallel Lines Rule:  The slopes of parallel lines are EQUAL.  Their y-intercepts are different.  



Example 1:  Are the graphs of the lines parallel?  Explain.
a.  
[image: image1.wmf]5

3

1

+

-

=

x

y

  




b.  
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Example 2:  
Write the equation for the line that is parallel to the given line and passes through the given point.  
Step 1:  Identify the slope of the given line. (This is also the slope of the new line)

Step 2:  Use slope-intercept form to write an equation of the new line. (Find b) 

a.  
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b.  
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[image: image12.emf]
Perpendicular lines are lines that intersect to form right angles.  

The slope for line A is -1/4


The slope for line B is 4  





What do you notice about the slopes?       
Multiply the slopes.   



Perpendicular Line Rule:  The slopes of perpendicular lines are OPPOSITE RECIPROCALS.   




Example 3:  Find the slope of a line perpendicular to the graph of each equation.
a.   
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b.  
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Example 4:  
Write an equation for the line that is perpendicular to the given line and passes thru the given point.
Step 1:  Identify the slope of the given line.  

Step 2:  Find opposite reciprocal of the slope.  (This is the slope of the new line)

Step 3:  Use slope-intercept form to write an equation of the new line.  (Find b) 

a.  
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b.  
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Homework:  pages 314 – 316 #1 – 29  odd, 33 – 37  odd  (18 exercises)
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